
Subject: Teaching Maths

1. Teaching Maths In 1950s
A logger sells a truckload of lumber for $100.
His cost of production
is 4/5 of the price. What is his profit?

2. Teaching Maths In 1970s
A logger sells a truckload of
lumber for $100. His cost of production
is 4/5 of the price, or $80.
What is his profit?

3. Teaching Maths In 1980s
A logger sells a truckload of
lumber for $100.
His cost of production is $80.
Did he make a profit ?
Yes or No

4. Teaching Maths In 1990s
A logger sells a truckload of
lumber for $100. His cost of production
is $80 and his profit is $20.
Your assignment: Underline the number 20.

5. Teaching Maths In 2000s
A logger cuts down a beautiful
forest because he is selfish and
inconsiderate and cares
nothing for the habitat of animals or
the preservation of our woodlands.
He does this so he can make a
profit of $20. What do you think of this
way of making a living? 

Topic for class participation after
answering the question: How
did the birds and squirrels feel as the
logger cut down their homes? 
(There are no wrong answers, feel free to
express your feelings e.g, anger, anxiety,
inadequacy, helplessness etc.)
Should you require debriefing
at conclusion of exam there are counsellors
available to assist you adjust back into
the real world.

6. Teaching Maths In 2050
باهن نم داولراك عيبت وريشتاه
فيك .ًارالود 80 وه جاتنإلا ةفلكت .رالود 100
؟ملو لاملا نمريثكلا

Předmět: Výuka matematiky

1. Výuka matematiky v 50tých letech
Dřevorubec prodá náklad dřeva za 100 dolarů. 
Náklady na produkci ho stojí 4/5 ceny. 
Jaký je jeho zisk? 

2. Výuka matematiky v 70tých letech
Dřevorubec prodá náklad dřeva za 100 dolarů. 
Náklady na produkci ho stojí 4/5 ceny, nebo-li 80 dolarů. 
Jaký je jeho zisk? 

3. Výuka matematiky v 80tých letech
Dřevorubec prodá náklad dřeva za 100 dolarů. 
Náklady na produkci ho stojí 80 dolarů. 
Docílil zisku?
Ano nebo Ne

4. Výuka matematiky v 90tých letech
Dřevorubec prodá náklad dřeva za 100 dolarů. 
Náklady na produkci ho stojí 80 dolarů 
a jeho zisk je 20 dolarů. 
Vaše zadání: Podtrhněte číslo 20.

5. Výuka matematiky v počátcích 2000
Dřevorubec porazí krásný les, 
protože je sobecký,  bezohledný 
a nezajímá ho ochrana 
životního prostředí zvířat 
a ani ochrana našich lesů. 
Činí tak proto, 
aby dosáhl zisku 20 dolarů. 
Co si myslíte o tomto způsobu obživy?

Námět na celotřídní diskusi po odpovědi na tuto otázku:
Jak se cití ptáci a veverky, když dřevorubec
podřezává jejich domovy?
(Žádná odpověď není špatná, 
neobávejte se svobodně vyjádřit své pocity, 
nebo-li hněv, rozhořčení, pocit méněcennosti, 
bezmoci atd.)
Pokud budete po skončení zkoušky potřebovat 
akční poradu, jsou vám k dispozici poradci, 
kteří vám pomohou se přizpůsobit 
zpět do reálného světa. 

6. Výuka matematiky v roce 2050
باهن نم داولراك عيبت وريشتاه
فيك .ًارالود 80 وه جاتنإلا ةفلكت .رالود 100
؟ملو لاملا نمريثكلا

Do češtiny z anglického originálu, 
putijícího po Internetu v Austrálii, 
přeložil Jiří Dlouhý


